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Supplemental Fig.2
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R!= Lysine ¢ nitrogen
R? = Lysine ¢ nitrogen (inter-, intra-link) or hydroxyl group (dead-end)
R3 = Lysine ¢ nitrogen (inter-, intra-link) or oxygen (dead-end)




Supplemental Fig.3
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Supplemental Fig.4

o
212 Lyr-HZ+IN] Nm_omo/.l B
112" 80G-HZ+N] v5'909 i —
\ .I o |
P -
..[c'0za-Hz+W] 65000 [ EHN-H+W] Trocor -
T o -
+ 3 B
1 = [9e4Pvq] 65’028 ———
=8r025—| -
— 02’805 -+ -
o
I3 i
- o
— serr— € :
T [98 (€ q] 1905, —
T T T T T 1 :
5 EEEE88E8° [%q°vq] vever—s-
8 8 & & 8 *° i
0 SUNoD Uo| -
8 ”
F m E
[z Lv-H+W] sesLot, :
/. C [¥8£°2q] ve'ss9—
_N@s_?v:a 'F -
\ = m [%2q”tq] teoTo>-
[2'02G-H+IN] zv's0oT ul [98APT ] 09 w85 -
n L -
+ —mF -
L s 2 b“ [92q2q] ereos .
r oE Tll hﬂ -
E 5 ]
o L5 X
E —— "
t X F=X -
. 40 :
Ee S @
=woes [
81805 —r :
[ [92q°Tq] ez ser—-
— VT Iy r i
8 [TTT[TTIT[TIT[TrrTTT
[ N I N g LA SR R R A
ﬂ w Sjuno) uo
s SuNoY uo| C — Juno) uo|
<

1000

900

800

miz

700

600

500

[97qPSA] oT's90T—» -

[98£°7 q] ov'0s6—

[95 472 q] 1e'6v8

+Lm_._z._._w+_>: 8€/65 |

\

L[0APrq] Te°2es

I L
25

- X

<L ITF
TE—EX

cdl

P2 eTz9e—=
T @

Il
o o
< ™

70 —
60 —
50 —

Sjunod uo|

20 —
10 —
0

1000

800

miz

600

400

200




Supplemental Fig.5
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